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Given below are the condition possibilities for an if statement

is true then ]

Itrug) (curentvalue)
]
false

M
[
]

I nextRandomBoolean |

NOT Ttrue
TNOT

TBOTH ['rug| AND 1277

TEITHER [ frue) OR 1227
TBOTH 1222 AND 1277

TEITHER 17922 OR 1277

Relational (DecimalNumber) { ==, I=, <, <=, ==, =}
Relational (WholeNumber) { ==, I= < <= >= >}
Relational (SThing) {==,!=}

Relational (MoveDirection) { ==, 1=}

Relational (TurnDirection) { ==, =}

Relational (RollDirection) { ==, I=}

Relational (Key) { ==, =}

Relational (Color) {==, 1=}

Relational (Paint) { ==, 1=}

TextString Comparison

727] contentEquals 227
ﬂ@ equalsignoreCase M
~ 9] startsWith 397

#1777] endsWith 51727]
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Below are the tiles at the bottom of a procedure

- doinorder | [ count _ | “while _ | foreachin _ | [/if _| | dotogether| eachin _ together |
- variable... | assign | |//icomment |




Given below are the panda procedures and panda Properties on the bottom right.

H . Cthis.pandal setWidth width-=299)

[ this. pandél setHeight he j
(this. pandﬂselﬂqﬂl\@
_this. pandﬂ resize i
(mls.pandﬂ resizeWidth factor: i
tmis.panc@ resizeHeight mj
- (this.pandal mm{lqﬂhlm

 (ihis pandd setPaint paint £79)
i this.panda setOpacity apacﬂyj

s panassetVehicle venicke: £779)

[ this.panc@ turnToFace farget !

(this.pandé orientTo target: .

(inis panda erientToUpright
 (his.panda pointAt target <772)

s panda moveAndOrientTo target (777



Given below are the panda functions.

& s panda

]
]

isToTheRightOf ]




1. (3 pts) Consider the following web page

l AUTO J

CompSci 94
We have learned how to make webpages

with htm/and how to style them with
CSS.

. El |

In the web page, which tags were used on the words html and CSS?

a) The <pre> tag on the word html and the <i> tag on the word CSS.
b) The <i>tag on the word html and the <pre> tag on the word CSS.
c) The <em> tag on the word html and the <strong> tag on the word CSS.
d) The <strong> tag on the word html and the <em> tag on the word CSS.

2. (3 pts) Consider the following HTML code that defines some lists.

Duke

SEC

Tennessee

Which one of the following is the way this HTML code will be displayed on a web page?

A) 1 .acc B) 1.Acc
o Duke o Duke
2. 5EC 2. SEC
1. Tennessee o Tennessee
C) e acc D) e acc
1. Duke 1. Duke
e SEC e SEC
o Tennessee 1. Tennessee



3. (3 pts) Consider the following html code to display a table.

tulips roses

pansies daffodils

Which one of the following is the way this HTML code will be displayed on a web page?

A) tulips | roses B)

pansies|daffodils

tulips|roses|pansies|daffodils

) D
tulips roses ) tulips roses pansies daffodils

pansies daffodils

4. (3 pts) Consider the following HTML code: and .css code:
<h2 id="change”> Turtles</h2> #change
{ color: blue; }
#thing
<h2> Seagulls </h2> {color: yellow; }

The default color with NO CSS is black. How are the words Turtles and Seagulls
displayed?

A) Turtles and Seagulls are both in black

B) Turtles is in blue and Seagulls is in black
C) Turtles is in blue and Seagulls is in yellow
D) Turtles and Seagulls are both in blue.



5. (3 pts) Consider the following HTML code: and .css code:
<h2 class="something"> Turtles</h2> h2 { color: green; }
<h2> Seagulls </h2> .something {color: purple; }

The default color with NO CSS is black. How are the words Turtles and Seagulls
displayed?

A) Turtles and Seagulls are both in black

B) Turtles is in purple and Seagulls is in green
C) Turtles is in green and Seagulls is in purple
D) Turtles is in purple and Seagulls is in black.

6. (4 pts) A six digit hexadecimal number represents a color. A color can also be
represented as a three-tuple of numbers representing the red, green and blue
components (or RGB) of the number. SHOW YOUR WORK.

A. Convert the hexadecimal color number #2E0A3C into RGB: ( :

B. Convert the color in RGB (35, 12, 27) to a six-digit hexadecimal color
number:



7. (3 pts) Consider the pig shown below. Which line of code has the pig change position

from the top picture to the bottom picture?

“doi in order

 Ciispig " roll CRIGHT ', 50.125  add detail |
(this.pig* roll CRIGHT , 50.25  add detail ]
Cthis pig roll CLEFT] ', 50125 add detail |

 Chispig " roll (LEFT ', 5025 adddetail |

8. (3 pts) Consider the pig shown below. Which do in order block of code has the pig
change position from the top picture to the bottom picture?

- { (this.pig  turn CRIGHT , 2025  add detail ]
| Chispig move [BACKWARD , 510 adddetail |

““do in order

[ E09" move CBAOHWD) | 569 aaaain |
. Chispig turn CRIGHT , 5025  add detail |

dom order
| (ihispid move CFORWARD , 510 adddetail |
 (ihispig turn [RIGHT , 5028  add detail |

- do in order

| Chispig turn [RIGHT , 5025 adddefail |
| Chispig' move CFORWARD , 510 add defail |




9. (3 pts) Consider the following pictures in which the marchHare changes from the
icture on the left to the picture on the right.

Which one of the following lines of code is executed to make this change in the
marchHare?

( (this.marchHarel  getRightHip |
( (this.marchHare|  getRightHip |
( Cthis.marchHare|  getRightHip|  turn [FORWARD] , 50.25  add detail ]
( Cihis.marchHare|  getRightHip|  turn CBACKWARD| , 5025  add detai ]

turn CFORWARD| , 50125 add detail ]

turn CBACKWARD| |, 50.125  add detail ]

|

10. (3 pts) Consider a program with a hare and a panda as shown in the figure on the left.
Which one of the following will be the position of the panda and hare after this code
executes?

“do in order

moveAndOrientTo add detail ]
 (inispanda move [RIGHT , 510  adddetail |

prrrry




11. (13 pts) Consider the following Alice code in which the lines are numbered.

Eééécnnstant{DecimalNumberEiiinum]{1:! 525 ]
[ something animal: (this.panda , item: 5"Good moming] , someNumber: =2.0| ]
|f):[§ getHeight] {ﬁ@] is true then
[ Ctuscow’ tum CRIGHT) , 5025 sdddetai’ |

lse

move : add detail ]

ol W N e

A) In line 2, what is the name of the procedure?

B) In line 2, what is the type of the procedure?

C) Inline 2, list the word(s) that are arguments.

D) In line 2, list the word(s) that are parameters.

E) Inline 2, I can put the words bunny or pig in place of the word panda, but I cannot
put camel or dalmatian. What are the types of all the parameters in this line?

F) What must be true in order for line 6 to execute?

10



12. (4 pts) Consider the following program that has the three objects: stuffedTiger,
marchHare and panda (shown below from left to right), and given code. The
world has been setup as shown below. The stuffedTiger is exactly 1.0 meter
from the marchHare, and the panda is exactly 1.0 meter from the marchHare.

;

move [FORWARD , 510 add detail |
 (fispandal" tum CRIGHT] , 50.5" , asSeengy add detail
 (this marchHare  turn [{EFT , 5025  adddetail |

setVehicle ]

 (thismarchHars  move [BACKWARD , 510/ adddetail |

move [BACKWARD| , 510/ adddetail |

ey

e,

e,

e

o,

The diagram below is looking from above over the scene. The stuffedTiger is
represented by the S, the marchHare is represented by the M, and the panda is
represented by the P. The animals are facing the bottom of the page. Using the
diagram below, draw the path of stuffedTiger and marchHare asa solid line
and the path of panda asa dashed line.
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13. (4 pts) Consider the following Panda Mystery procedure.

declare procedure mysterywﬂhpammetemc | DecimalNumber /= ‘amount , { DecimalNumber = value| ,
{ Paint ) :someColor

do in order

|f ):[EDTH ):Iéamnunﬂ > Svalugl ] AHDI{ snme[‘;nlnﬂ + CJRED ] ] is frue then

|TI[M = m] |struethen
[ (this] say STfrog]  add detail ]

else

| i say sfhose]  adddetail |

Eéééeué};
: i ]:[EITHER I[Eamnunﬂ < 550 ] OR I{Esnme[}nlnﬂ == [ |GREEN ] ] is true then
[ (this| say Sfcat]  add detail ]

Celse

[ say /fdog]  add detail ]

A) What does the panda say when the following line of code is run?

[ mystery amount 516 | value' =28 , someColor [JJBLUE ]

B) What does the panda say when the following line of code is run?

[ mystery amount 5.0 , value:=32 |, someColor[]|GREEN ]
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14. (4 pts) Consider the following Panda JumpRandom procedure for the panda to jump a
random amount each time the procedure is called.

—
jumpRandam &2

declare procedure jum pRandom l Add Parameter... J

doin order

[ move I:@ ,gnextRandnmRealNumberlnRange , ] add detail ]
[ move ,gnextRandumReaINumberlnRange , ] add detail ]

When you run the program and call the jumpRandom procedure with the panda standing
on the ground, the panda moves up and then moves down halfway through the ground.
The panda is supposed to land on the ground exactly where it was when it started the
jump.

A) Explain why this code does not work correctly.

B) Give the correct code below for the panda jumpRandom procedure below. Do not
add any parameters.

—
- jumpRandam £2

deda.repmcedzmjum pRandoml Add Parameter... J
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15. (14 pts) Consider the following Alice project that has three objects: bunny, pig
and panda.

The program starts as shown in the top left figure above with the bunny, pig and
panda standing in a line all facing front. Write code to do the following in this order.
When you move the animals you do not need to move their legs, just move them.

a) The bunny and pig turn to face each other at the same time, then the pig moves about half
the distance between the pig and bunny, then the bunny moves stopping 0.5 units in front of the
pig (see top right picture).

b) The panda turns to face the pig and the panda says hello. Then the pig turns around to face
the panda. (bottom left picture).

c) The panda jumps over the pig and bunny (not touching either one), landing past the
bunny.(bottom picture right).

d) Both the bunny and pig disappear. Then the panda turns to face forward and then turns
completely red.

‘l do in order
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(extra page )
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16. (10 pts) Complete the following Chicken procedure called closestOfThree
whose header is shown below. This procedure has three Biped parameters, named
creaturel, creature2, and creature3. This procedure has the object that is closest to
the chicken (of the three), say “I’m closest”. (note the blackCat is a Biped)

I'm closest I'm closest

Here are two calls to this procedure and their results in the picture.

E (this.chicken| closestOfThree creature!: (this.tortoise] | creature2: (thisyetiBaby , creature3: (this.blackCaf

[ code to move the blackCat not shown |

E (this.chicken| closestOfThree creaturef: (this.blackCal , creature2: (this.yetiBaby |, creature3: (this.tortoise]

Complete the code below.
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(extra page 1, must turn in)
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(extra page 2, must turn in)
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